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SECOND PREL]MINARY EXAMINATION JANUARY 2019
PHYSICS Class: 10
Marks: 80
Time: 2 hrs

T Date:03 /01/2019
B o - This pnper con51sts of J« ages '
TR ‘ ~Answer to this paper.must be written a the paper provided separately.
g Yozz will not be allowed to wril gg uring the ﬁrst 15 mm utes.
P : This time is to be spent in reﬂ"' :
R The time ngen ai the head of Ihz.s' d;l er is th; answers.
';3:' ; __*11
Y s of quesnom‘, are given in n brack s [ 7
'f';'j“Question 1 ,
@ @ Giveorfuse of N it
SL() Nagie the radiation® ahousepases 1n the earth’s
e 2)
()
= . (i)
(0.0 - [2]-.
g ()
; "’(d) ‘What is the main cncrgy tran ?.UP,“ }hat oceurs In 2]
i) Photosynih esis in gresnleaves 3 - © . . -
(ii) Chargmg of a bam:ry" :
5 (2)
HQuestion 2

Gn.

How long s should an clcctnc motoks of power 2HP. opcr::le so as 1o pump ?
’ 373 kg of water from a depth of 12m. [Take g=10Nkg ] )

- &,
¢

g

-

x[b) | | A bbdy is ac:ed upon by a force: State lwo condmons undcr which the 2
T ‘work done could bezéro. - AR POy '.' e Do‘r
ey i, © Shans o isaw

Scanned by CamScanner



©
{ii)

(d)

(©)

Qm,slmn 3

u(.ﬂ)?

- (1)
(n)

Question 4

@
i) -
(i)
).
(i)

: 1hur powcr'?

Q)

“Which class of Icvu" has a mculnmc.ll advanhg,c '1lway" grcater lhan | [2]

one? | .
What change can be brought aboutin this lever to increase its mechanical .
:\d\{nﬂl:!gg'? [ . | B

Name:any four nglOI]b of clcctrormpnchc Spectmm (other than visible " [2]‘
light) in decréasin [, ordcr of wavclcngth ' '

The resistance oflwo lamps isin the ratio 4 5 What wﬂl be lhc rano of _' 2]

I or lhu same anglc of mc1dencc the ang s of reﬁ-acnon m th:ee dlfferent 3 [2}
m(,dxa] Wand 111 are.15°, 25° and 35°, felspe

thL, spccd of hght bc xmmmum?‘Gwe A TS

Name the wavcs wlnch are N§ed '
- Sound nawgatxon and rangin -r A\ find the deth of sea.

Radio dctcchon and mnﬂmg to tdtect lhc presence of an cncmy s alrplanc
in its pnth : . g ,

2 |

- e . F T LIRS
PP . . ALY LI AN

Stau. one pomt of snmlan it one poini of difference betweenan AC - [2]
,bcncmtor and DC molor, CUTSREET. o e it

Statc and dcf ne theSI Uit of eleclncal feﬁxshncc r . {2]

Three rcmstors of 6 Q.3 Q md 40
cffculve resrstance 1S greater. than 6
L to show lhls arranpcment

are connectcd together so lhat the - (2]
Q,but less than 8 Q. Draw a diagram

l-l»
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SECTION 11 (40 Marles) a
v Attempt any 4 questions from this section

 Question 5 '
It \
o) (1) Name (e process vsed for produeing clectriclty from the nuslear energy.

C () I anelephant and a rat both run with same kinetic encrpy, who vill win
| the race? ' ‘
(i)  Which class of lever found in a human body is being naed by a girl vien

she aises the weight of her body on er toes. .

.
LN
N

vy
W
N——

) A nmlmm half meter rule balances }mn/oniylﬁ'ﬂgﬂ knife edpe at 28 o
s mark when a weight of 18 pf s sugpe mlc.l'rom one enl.

)

RIS (i) Draw a diagram of the arrangément,
R (1) Wlm( is the wui,hl ofthc, halfm(.lc J](,I

g 1)

CLih (i) A boy uses bluc colour li ‘lf’
.ot repeats the eXperiment using red coftiy
~u . the same or different in thc two ;,dscsl

I answer.

#w*‘ i
,H ‘ &’4’-’1& 4;»‘1\'. e

3“11“‘( \~r o ! o
-‘ '|

| _,"ji;[3]’

Vit gt s i T TN 07700277

D ',',';lly at 18°Cat a hexght ofl 26'km above thc ground. fal]s down [4]
i On the gréund Taking the speuﬁc hcat. capacity of water to be 4.2 Jg K i

.eachmg the ground. Take: gr—*]O

]n what way does the tcmperaturc of waler at Ihe bottom of a waterfall N

dlffer from the temperalure at lhe 10p7 EXplam w1th reas I)s S

.'_.

;ﬁ.‘-',
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uestion 7

(1) Two men 13.6 m apart stznd 2t the same distance from a vertical h)]loCk - B]
One of them fires a shot and other hears the echo 2 s after hearing the
direct sound. Find the distance of the man ﬁr:::] the hjnp_,.x,. 2ssuring the
vclocxry offound to be 340 m/s - ,

L

(b) For the incident ray LM shown,-. B3]
complete the diagram to show the
path of the ray into and out of the
prism. Critical anglc of gless is 42°
(c_) (1) | ‘Nh/ docs a '-p«’ar man dxm cl tnc taJ of e ﬁsh dunng spear fshmo') o [4]
(1) Mcnhon any two d]ﬁcrcno&s betweenn A '
,Qqcstxon 8 TR ‘(}__,_
(2) - How many alpha and beta pamcl 31

2z
-;,gu decays to zg’%)( 7

O

8

‘What is the ratio of latent
solid [-and solid 11?7

(il) State the effect of ; increase in prcssurc "

on the melting of i ice.

4

(b) (Red + B)uc + Ycllow) lnght is incident on a pnsm draw thc diagram by  [3]
showing the refracted and emergent ray. :

ALIE r

]
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s

W

A

(a) | =

© o as shown in the diagram:° =
" Copy the diagram and using th.rcc rays

. starting from point A, obtain the'image &
o of the object formed by thé lens_ 2:"1'- "

pea i

e '_(iii)

©

A block and tackle system has VR = S | R o, P = [4]
Draw a neat labelled dlagrd'h of 4 5)'516"3 md'icaﬁng fhe dxrecnon of i its P
loadand effort. ~ . - '

Rohan exernts a pull of 150 kgf What 1S the max1mum ]oad he can raise s

~ with this pulley system i its Pfﬁcxencv = 7§0/,

Ques‘uon 10 | ’

s Anobject AB is placed between 2F| and 04 T T [3]
.. F1 on the principal axis of a convex lens - - ] /‘ S
B

connected to 220Vmams. deylate: - © e

<5,
=3)

etal Specxﬁc Teat cépacxty of water—4 2 | g :
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